80-0D njunsAl aN 6T0C°0T eleq
00T:T elexs 6061 npjafod IN
1120 3IDAINIMZOY - "0™D VIOVIVISNI | MijunsAimiAl
AZOMVNONAM 1)3rodd wnipeis
INYVLINVS IIDVIVLSNI ezuelg

auJejues afdejesul “Pads m
YT/SOMd/L8YS/M1S 4u “adn Hzpmeuds

aMIS uejweq “zul 48w

auJejues afdejeisul “Pads m

TT/SOMd/TOEY/N1S 4u adn
Aufa) zsewo] "zuj 18w temonyafold

31Zpomez-2319n80g 'zg 2000 190 T NV
‘2/00Z ‘86T 1ife1Zp IbAysamul
30IMO1eY £00-0F ‘G emoyueg ‘|n saJpy
IDIMOLYY L00-0F ‘TT VMOMNVE TN 10159MU
HOVDIMOLYY M INST1S LILASHIMINN _

NNIYIL NFINVMOUYYAOdSOOVZ ZvdO NIZDZSIIINOd
_UMMNU VINVMOY1IAZN NF0SOdS YNVINZ 3Z ZVHM npjafousd
HOVIIMOLVYX M S IIMOMNVE "IN AZ4d jews|

MXNAAQNE LNOW3Y | YAM\OANg3zyd

|d 19391Yyd.1e)URIq MMM

962008 11w/t emotues 1 [DNILIHONY INWIE | ™ oyroicnt
"0°0 Z"dS I2YALIHIYY YNV18 exasoupar

alse[y 0 geuoyAM Azajeu aulAoeelsul

Kokleujopo moiomez died | aoklezliaimodpo AIomez U BMONSUM eyjezs -
AuzoAjewoyne yuzipimodpQ -
Aobzemoumou Jomez -

Amolny lomez -

Aokzemoumol Jomez -

uajus|o Aojuzou Jojeinbay -

yoAulhoefjuem [enuao aoiumezibeu Aokle|isez ifoejejsul uoid |

nyuApng g nBaiqo 00 femoxiufezib ifoejelsul uoid -

nyuApng v nBaiqo 00 femoxiufezib ifoejesul uoid -

Bujeujwou dojupals ouepod - YoAMOMSIOBZ UOAMO|B)S INJ BOJUPaIS

mopomazid puelos 9sognib x
kuzndumaz dojupais ouepod - YoAMOMISIEMO[SIM INJ BOJUPDIS

UYoAMOYSIoBZ YOAMOIE]S INJ Z
yoAulkoejfiuem olumazibeu nbaigo Ifoejeisul Apomazid suemopaloid -

YoAmMoysioez yoAmolels Ind z
‘0D obmoyiufezib nbaigo Ifoejeisul Apomezid suemoysfold -

yoAmomisiemolaim Ini z
‘0D obmoyiufezib nbaigo (foejeisul Apomezid suemoiysfold -

‘Aposbazid

[auep e|p lsuebewim [emolubo 1osousodpo

Aisndazid

VOVMN

G'1xg8e

GZ'zTXx 9l

}

OO VMOVIVLSNI VANIOTT

G2z X9l Gz 2 X9l G277 X9 GZZ X9l GZZ X9l
I I I I — 1 I I — 1 I I I 1
[ww oz6] 2.0 [ww oz¢] 00 [ww 0og] 2.0 [ww o8] 2.0 [ww 009] 0.0 2.0 [ww 009] [ww oov] 2.0 [ww oov] 00 [ww o9l 2.0 [ww ozg1] 0.0 [ww ozg] 2.0 [ww oz6] 2.0 [ww o8] 2.0 [ww ozg] 2.0 [ww 0og] 00 [ww o9l 2.0
006/AMZZ AN 006/AMLL aie't- 009/AMLL 8z'L- 006/AMZZ A 006/AMZZ 621 elel- 006/ANL L 006/AM 1L alg'L- 006/AM L 0g'}- 006/AMLL oLg'L- 006/AMZZ PLEL- 006/AMLL et 006/AMLL 1z 006/AMLL 1zl 006/AMLL ezl 006/ANL L 611" 006/AMLL 0z'L-
o o o o al o o o o o o o o o o
05') 121 M8LOZ=0 00') alg'l- meog=o || oot 82l M6LL=D 0s'e €21 M 1L00Z=0 621 M68ZL=0 MO6L=D  BLEL- 00') 00') SlLEl- M 169=0 00') 0l MOEK=O (o) oLg’l-  MGEL=D G PLEL- MPLIE=D 00') HEL- MP9G=0 00') azz'h- M 990L=d 00') 121 M60ZL=d 00') eZZ’l-  MGI9=0 (p') 6Ll ML66=0 00') 0l MBGLL=0
STZ X9l STZ X9l STZ X0l STTX9l §ZTX0C STZ X9l STTX9l STTX9l STZ X9l
, SZZ X9l STz X9l
~ GING ~ GING EZATT ~0ZNg ~ GING ~ GING ~ GING ~gZNg 6ZNa ~0zNg 0ZNG
190 020 190 0¢°0 190 0C'€ 190 02'€ iqo 0g'e 190 0%'0 190 0¢'€ iqo 0g'e 190 02’ 190 0¢'€
GZNd
e 00°0Z ) oExeE | oexeE 019 69 84 L9 99 5 a £9 zd 19
- - - TEXZE EFD : XA TEXGE TEXZE TENZE TEXZE TEXZE - TEXG TEXZE - W0La. v W64. : 489 : AN g W94, - WS : WA : W0 ; W - Wbda -
0'g X927 L0LG. GZTX9L )\MIO 60, GZZ X9k )\Wl@ .80, )\@l@ W20 IIxIII —Bo .90, )\Wl@ S A )\WIO £ 0'€Xgg / / )\M 20, )\W AH SZZX9L 0°€ X 92 0'€ X9Z 0°€ X2 G'E X OF G'E X OF G'E X O G X 0% 0% X 05 Gy X €9 Gy X €9
[~ = = [~ b - - - i R T —— —— i = - =
STz or secxo EAZED SZTX02 T SZZ X0k e i e ! oo oo | T scexor EA2ED SZTXob )
r - [ SING I GING I T LAZy:I2 GZNa T SING 0ZNd r T ! I T ZeENa r GZNd T ooer GZNa
P = edd 00°0Z =y ec 0002 AL as ec 0092 AL ed 00°02 ec 0002 - o P — o P o B 002y _F e 0562 piay _MHYM_% ed¥ 00°0Z
I 2.0z 0-9¢ [ww 0zg) 902 202 2,02 2,91 [ww 0591] 0. 02 [ww 0591] 0.0 [ww oggL] 0-02 9:02 [ww 0ggL] 902 [ww 0g91] [ww 0ggL] 20 [ww 0ggL] 0- 02 [ww ozeL) 0. 02 2,02 ol !
ww 0094 [ww oop] [ww og91] [ww ogoL] ww 008 _ _ _ _ _ . _ [ww ozs] [ww oooL]
_ . _ _ . . . . . €8l . . : : . . : . . . . . . . . . -
008IAZZ acz0 220 006/ANLL 1Z0 006IAYZZ 18 68 1051110 9 810 1868 10511 9 P10 - 610 o 19 €€ /0S2/10 9 qa8L0 o 19 €€ /05210 9 81’0 o 18 €€ /052/'1e 9 @8L0 y8L0j 19 €€ /0S2/10 9 . Y 8L°0] 18 €€ /052/18 9 . N 19 €€ /0518 9 810 o 19 €€ /05./'1 9 1810 o 009/AMEE L0 v20 006/AZZ 006/ASLL eez0
o - o | o o o o ) - _ b - _ b =) _ - - . - 5 " 8 g _ | - _ . g _ o o
00z T20 M Erez=0 MOL9=® 20 00’ po 00’8 B0 M69b=0  og'g BLO M 69Lb= 05t BT A Lb=d 00'8 810 M69L=0 00'8 810 M69LY=0 00'8 M 69Lp=0 MELLI=O  8L0 008 M69Lb=0 810 00'8 00'8 810 M69Lb=0d 008 810 M 69Lb=0 05z L0 M62.2=0 MO TTe 00l 00 AT 1201=0
840
—_— Toexoe
0EX9C
STTXOL -
SZTX0C
STZ XL
—_ 0EX9Z
S§ZTX0C
- GZX0Z SCCXOl TR
sTe G2z X 90
I T I | T
0 P et 021 P st
. 2,94 Mms 0,02
[ww gogt] 9:02 [ww oop1] 202 [ww 00g] 2 oM_ B [ww goot] 9002 lwwrozz]
009/AYZZ oL 009/AMZZ 60°L 009/ANHL viL vl 00S/AMZZ 80t 008iAAee 8o
o o+ e o u. g -
05z 0Vh  MEYIZ=d 05t 60 M 9E0Z=D 00’k vl MPLo=0 M Obb=d 051 B0 MEOVL=D 06l 80F  MOYSL=d
“gTx 0T AT 0'€X9Z
STZ XL
= = T T 9l G'Z X0 Gz, 9l 9l G 9l o < o g O
9t §2C SZX0C ﬁ GTTX9F SZ'TX9L SCTX9l SZTX0 GTT*OL GTTXOL _\ . FAAT . e _ . - " — FFAETD §TX0T SZX02 0e*x9T 0'e*9T 0'ex9T 0€*9T
I ] r 006 r T T — [ 1 i pan wSn s paa pas [————— T T T 1 1 T _\
2,02 = 0,02 - 2,02 o_mﬁ = 2,91 F = = 2,02 - 0z 0t 2,02 = i 2,02 poct 9. 02 2,02 0.0¢ 0.0z 2,02 9,02 ¥ ﬂsaoomﬁ 2,02 = 0z o 2,02 o o 2.0 9,02 o i 2,02 o 2,02 poct
[ww o] [ww oz6] [ww 0o94] ° _,_AXY__ s ww 000} [ww 0004 9. 02 ww oop L o ww oop L e [ww pog] [ww oz6] ° s [ww 0o04] [ww 0zs] [ww oz6] [ww 008] [ww 0zs] [ww o08] E\Sw o {ww 0z6] foX [ww 0001] o jww 0z2] {ww 0go1] o ww 0z6] [ww 0001] o {ww 0go1] o e
- . L . — — .. . /1 7 12 - - - . — .. L : — . —
6ce 006/ANLL 009/AMZZ 8ce 009/AM2T Lee 3 009/AXLL 9ce 006/AMEE Pz 009/ANLL ez 009/AMLL q Mms 24 006/ANZZ 00bIANZZ €T i 006/AMEE 006/AXZZ ez dlee 006/AMZZ 006/ANEE (244 0z 009/AMLL €ee 006/ALL asLz 006/ANLL A 006/AMEE 0zz 006/AMZZ 006/AMEE LT ez 006/AMZZ 006/AMEE sz 006/AMEE 117
- o o o o o Ho o e o o ~ - - " o - . o - o §ZTX0T o o o o - o o o
MzLe=0  62C 00'L 00'L 8cc L621=0  0g'z 122 M L812=0 00't 9CC M L8=0 00’y 0T M2082=0  oq, 22 MO0B0L=d 00’} e2C M 060L=0 MEELL=D  lE¢ 05"} 00°L €T MbE6=d M8LYZ=® 7 05'c 00't 127 Me9g=p MO9SI=D lce 05’ 002 22T MPBBL=b  MOEE=d 0£T 00'L M2LL=d  £EC 00' MS00L=d  d6L'T 0Y  Mlizhz=d 11T 00'2 Mliovl=® 02 00's 00 Ve Melve=0  mgse=d  B6LZ g 05y LT MPLSZ=0 oy 11T M p8SZ=d

<

=9




